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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet. |

1- These ideas are not quite new; they ancient philosophers.
1) put over 2) depart for 3) descend from 4) give rise to
2- The story --——-—- the lives of people in the last century.
1) depicts 2) settles 3) contends 4) persists
3- Sirong storms have been -——-—- our efforts te find flood survivers.
1) surmising 2) hampering 3) submitting 4) demarcating
4- The military in most countries uses radar satellites to targets through clouds
and at night.
1) track 2) disallow 3) dominate 4) overthrow

5- The association works to promote the
members of the community.

of retired people as active and useful

1) status 2) posture 3) standpoint 4) disclosure
6- At the end of the article, the author bridges all the different of the arpument

together.

1) remnants 2) strands 3) dealings 4) conversions
7- Life in Britain was transformed by the of the steam engine.

1) disposition 2) advent 3) expenditure 4) undertaking
8- There is evidence that a(n) - to cancer runs in some families.

1) dilemma 2) incident 3) prospect 4) predisposition
9- The journalists insisted on getting to the front line of the battle, of the risks.

1) devoid 2) inevitable 3) heedless 4) unaccustomed
10- Computers operate using —-—--—— numbers (the values 0 and I).

1) dual 2) scant 3) binary 4) trivial

PART B: Cloze Test

| Directions: Read the following passage and decide which cheice (1), (2), (3), or
| (4) best fits each space. Then mark the correct choice on your answer sheet.

e ——— v

The Sahara is the great desert of northern Africa and the largest in the world. (11) ———--
the Atlantic Ocean on the west to the Red Sea on the east, and from the Atlas Mountains and
Mediterranean Sea on the north (12) ———— the savannas of the Sudan region on the south.
(13) ———- — more than 3 million square miles (8 million sq km), the Sahara is divided among
many countries. Parts of the desert are known by separate names, such as the Eastern or
Arabian Desert between the Nile River and the Red Sea, and the Libyan Desert.along the
border between Egypt and Libya. The Sahara has (14) ——---— of 2 million excluding the
densely settled Nile Valley, (15) ---—-—— apart from the surrounding desert. The principal
language of the people of the Sahara is Amabic and their religion is Islam.
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11- 1) It extends from 2) It extends between
3) There extends from 4) There extends between
12-1)in 2} on 3) at 4) to
13- 1) To be an area of 2) With an area of
3) To be an area with 4) Across an area with
14- 1) a population estimating 2) a population estimated
3) estimated a population 4) an estimated population
15- 1) that it considers 2) that is considered
3} which is considered 4) which it considers

T C: &ading nmpnﬂ

Dim:ﬁﬂns: Read the following two passages and choose the best choice (1), (2), (3), |
jor (). Then mark it on your answer sheet,

PASSAEG 1:

The first stage in electric steel-making is o charge steel scrap and melt this down with the
arcs. Some silicon, phosphorus and carbon may then be removed from the melt by directing a
stream of oxygen on to the metal through a lance. This has the advantages of refining the metal
very rapidly, which is important because the electire process must have high productivity to
offset its intrinsic expensiveness, and of raising the metal to about 1800°C , the temperature at
which CO is more stable than the alloy oxides, so that the alloy content of special scrap need
not be lost. Slag formed during this réfining stage is poured away and a new reducing slag is
then made, mainly of calcium carbide Cal.'flz, by throwing in lime and anthracite. In this

reducing environment necessary alloys, ferro-manganese, ferro-chromium, ferro-vanadium,
etc. can be fed into the bath without loss due to oxidation.

How do we remove impurities from molten scrap steel?

1) By the arcs. 2) By blowing oxygen.

3) By directing through a lance. 4) By removing silicon, phosphorous and carbon.
Why is high productivity so important in an electric arc furnace?

1) Because the electric process refines rapidly.

2) Because high productivity offsets expenses and raises temperature.

3) Because high productivity balances out the inherent costs of this process.

4) Because high produetivity sets off the intrinsic expensiveness this process.

How do we ensure that useful alloying elements in the scrap are not lost altogether?

1) By producing CO.

2) By choosing special serap with highly unstable oxides.

3) By providing conditions where other impurities oxidize selectively.

4) By making sure that they have stable oxides that will enter the slag rather than being lost.
What is the main function of the reducing slag?

1) To reduce the furnace.

2) To provide a reducing condition in the furance.

3) To throw in lime and anthracite thus forming calcium carbide:

4) To contain ferro-manganese, ferro-chormium, ferro-vanadium ect.
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What causes the temperature of the bath to rise to 1800°C?
1) The lance. 2) The stability of CO.
3) Oxidation reactions of impurities. 4) Silicon, Phosphorous and carbon.
PASSAGE 2:
Dross

Dross is a solid precipitated phase which collects on the surace of molten low melting point
metal from which it can be skimmed. when, for example, impure lead bullion is cooled down
toward its freezing point, higher melting point metals which may bé in solution, and typically
iron in this case, are precipitated in finely divided solid form which floats on the surface. This
primary dross can be obtained without any reagent being added but oxygen (air) can be used to
dross off tin, antimony, arsenic etc. as oxides, or sulpbur can be used to remove copper in a
similar way. These impurities would always be accompanied by rather a large amount of the
parent meial either in metallic or oxide form. This *wet™ dross can be “dried” by stirring in
volatile reagents like sawdust or ammonium chloride which clean the metallic globules and let
them coalesce before rejoining the melt below. The dross is skimmed off, squeezed to remove
still more metal and recycled. Drossing is usually only a first stage in refining but is a simple,
cheap way of roughing out the bulk of the impurities from the product of a smelter. In the
desilvermg of lead, silver is similarily precipitated from lead but the reagent used is zinc and
the product is an intermetallic compound A g,Zn, which, because of its texture is generally

referred to as “crust”. This is of course treated for recovery of the silver and sometimes also
gold.

What happens when molten lead cools down close to its freezing point?

1) Higher melting point metals dissolve.

2) A precipitated phase collects and skims.

3) Other metals precipitate from lead and typical iron.

4) A phase consisting mainly of some of the impurity elements forms on the surface.
Why does dross form on the surface of lead?

1) Because it needs to absorb oxygen from air. 2) Because its density is lower than lead.
3) Because it precipitates from lead. 4) Because it can be skimmed.

What does wet dross mean?

1) Dross that 15 coalescent.

2) Dross that contains moisture.

3) Dross that contains droplets of parent metal.

4) Dross that is mixed with saw dust or ammonium chloride.

‘What are the main elemental constituents of desilvering dross?

1) Crust 2) Zinc, silver and gold

3) Intermetallic compound Ag27n3. 4) Lead, Zinc, silver and occasionally gold.
‘What happens to dross after skimming off?

1) It is treated to recover useful metals. 2) It is a first stage in refining.

3) It rejoins the metal. 4) It is squeezed.
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| Choose the correct answer and the mark in your answer sheet.
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Since the grain structure will have been severely distorted by cold working, recrystalizatin
can commence at 500°C.

In the above senience severely means -—--———-,

1) rigorously 2) precisely 3) deliberately 4) simultaneously
Corrosion is defined a5 the deterioration or — of a metal due to chemical or
electrochemical reactions with its environment.

1) emission 2) pollution 3) simmlation 4) destruction

To avoid —————— during quenching, it is essential to dip long thin components vertically
into the quenching bath.

1) distortion 2) distillation 3) recovery 4) squeezing
The excessive softness of full annealing results in local of mnchlnﬂ_l surface,
1) tearing 2) poisoning 3) sprinkling 4) prolonging

In normalizing, the cooling rate is deliberately
furance and allowing it to cool in free air.
1) scattered 2) scarified 3) saturated 4) lowered

by taking the work from the
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